< 00y > (Um)

< opJp, > (%)

Ratio

< & ¢@>(rad)
©
N
Ul

......

......

-1

(== DQu_CRETest 100

tes eVt
CKFREFit-test_1000evt

0 1

2

3

TP n (PCA to beamline)

X
=
(=)

-3

< dcot(B) >
o
e
[¢)] N

o©
P

.........

..........

-$4eH- 44 H-F -

?

QI T

0 1 2 3
TP n (PCA to beamline)

[y
A OO ®© O
OO O

20

|
w

0 1

DOM—
—— DQM_mKFitREFit-test_1000evt
—— DOM_NANTEST_1000&vt
U A 4 :
C -2 - 1]
- 8 " . A
O VG BN N DO | O N AL e
E : *: L ¢+
- 1 -HH P S Lt :
E : : ] :
ol : ST PO | B i 4
o g : :
E...f....i....l....l. iy b by
3 :: 1 :-" +-‘ -E- t .
-1

2

3

aE

1| A :

OF--- uf it :

—1- : : :
—2F---{H- ; : Z'
S ol | L | R P SO broseede e
o | B R SR R :

[ S P T ilA
JE N [, ! b N

L= LA T 11 I r :

B AR 8
3 2 -1 0 1 2 3

TP n (PCA to beamline)

< 8d,> (um)

Jay

o : ST

— 14 -4 ..
E i ol || I

- i el |-
— i >

c p X 1

— - b e e .

— F e O T PR TP O 3

n " . r
Al | o0 o | alhihi il il o
L | b

- 9 - e
[ 4 Tn

w

1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


